= A
N = 0 &8 AFH Y & A AN
2039 F=F 2 3 =XUNHSEIAH MA
SA: XSOt
HM: WSHIMA
ool FEX AN SHY(FEXBRA)(FNESL) (et @ e)
2 A .2 () - HEMNY - BHES 0] AFoH Iy H HnE2
pNE=B/ =" 253,654 194,691 58,963
NEHFMNA 253,654 194,691 58,963
=X BN S (ZIMT2)(E=XNZELSH) 253,654 194,691 58,963
=XHE 2 48,890 49,200 A310
201 2Bt 1,690 2,000 A310
01 AF2 22| H 1,690 2,000 A310
O gt 1,690 2,000 A310
— FHX O£8 =2 2 Y2
23X 1,690,000 1,690 2,000 A310
ol gl gl 204,764 145,491 59,273
801 Ol HIH 204,764 145,491 59,273
01 ol HI 204,764 145,491 59,273
O =X& 22| olbly AX 204,764,000 204,764 145,491 59,273




